Secondary Activities  You should be able to:
· Explain, giving examples, what Secondary activities are.
· Discuss a company (factory) you have studied as a system with inputs, processes and outputs (give examples).
· State the difference between Heavy and Light Industry.
· Discuss the factors affecting the location of industry (ex. Resource material, Labour + Transport).
· Explain what a footloose industry is.
· [bookmark: _GoBack]Discuss how the British Iron and Steel Industry has changed its location over time (Forests, Coalfields + Coasts).
· Explain what Industrial Inertia is.
· Explain the causes of acid rain.
· Describe the effects acid rain has on agriculture + forests / tourism / health.
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